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4/1 - 2 - - 2 - - - - - -
4/2 3 3 3 3 3
4/3 - - - 2 - - -
4/4 — ?
4/5 —
4/6
4/7 —
4/8 —
4/9 - - - - - - - - - - - - - - - - -
410 | — - - - - - - - - - - - - - - - -
4/11 - - 4 - - - - - 4 4 - - - 4 - - -
412 | - - - - - - - - - - - - - - - - -
413 | — - - 3 - - - - - - - - - - - 3 -
414 | — - - - - - - - - - - - - - - - -
415 | 3 - - - - - - - - - - - - - 3 - -
416 | - - - - - - - - - - - - - - - - -
417 | - - - - - - - - - - - - - - - - -
418 | — - - - - - - - - - - - - - - - -
419 | - - - - - - - - - - - -
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4/24
425 | — | - [ - T - T - T -T-1T-1T-1T+2
426 | - | - | - | - [ - [ - T -1 -[T-T-T-1T-"T-T-T-=-1T1-T1T-
421 | - | - [ - | - [ - [ - T -T-"T-T-T-T1T-T-"T-=-T-=-7T1+-T1T-
4/28 | 3 3 3 - -Tal-T-T-1T-Tala | -T-T-T-17T-
429 | - | - [ - I - [ - [ - T -T-"T1T-T-T-1T-T-T-=-T-=-1T-=-—T1T-
430 | - | - [ - | - [ - [ - T -T-"T1T-T-T-=-1T-"T-T-T-=-1T-=-T1T-
5/1 - -l -T -1 -1T-T-T-T-1T-T-T-=-1T-=-T-T-=-1T=1T=
5/2 -l -r-r-r-tr-r-1T-1T-1T-Tal-1T-T-T-1T-T1T=
5/3 - -1 -T -1 -1T-T-T-T-1T-T-T-=-1T-=-T-T-1T=71T+=
5/4 - -l -1T -1 -1 -T-T-T-1T-T-T-=-1T-=-T-T-=-1T=71T=
5/5 -
5/6 3
5/7 -
5/8 -
5/9 - -l -1T -1 -1 -T-T-T-1T-T-T-=-1T-=-T-T-=-1T=71T=
50 | - | - | - | - [ - [ - -T-1T-T-T-=-1T-T-T-T-=-1T1-T-
5/11 - -1 -1 -1 -1T-T-T-=-T-=-1T-T-T-=-1T=-T-T-1T=71T+=
5/12 | 3 3 -1 3 -1 3 3 3 3 3 3 3 3 3 3 3 -
53 | - | - | - | - [ - [ - -1T-1T-T1T-T-1T-T1T-T-T1T-1-T1T-=
54 | - | - | - | - [ - [ - -1 -1 -T-T-T1T-"T-T-T-=-1T1-=-—T-
565 | - | - | - | - [ - [ -1 -1T-1T-T1-T-1T-T-T-=-1T-=71T+-=-T1T-
56 | - | - | - | - - [ -1 -1T-1T-T1-T-1T-T-T-=-1T-=-=71-T1T-
57 | - | - [ - | - [ - -T-1T-1T-1T-T-1T-T-T-=-1T-=71T-71T-
58 | - | - | - | - [ - -1 -1T-1T-1T-T-1T-T-T-=-1T-=71T-T1T-
519 | - | - | - | - [ - [ -T-1T-1T-T-T-=-1T-T-T-=Te1®e7]-
520 | - | - [ - | - [ -] -T-1T-1T-1T-T-=-1T"-T-T-=-1T-=-=71T-T1T-
5/21 - -1 -1 -T=-1T-1T-T=-1T-1T-T-T=-1T-=-T-T-1T=-71-=
522 | - | - | - | - [ - [ - -1 -1 -T-T-1T-T-T-T1T-=-1-T1TV-
5/28 | — | - | - | - | — T -1 -1 -1~
524 | - | - | e | @ | - [ - T -Te
525 | — | - | - | - [ - [ -1 e [ = [ =
5/26 | - | - | - | - | - [ - -1 =-1-=
521 | - | - | - | - - | - =1 - -1 = =1 -1 -"T-=1T-=1T-=1-
528 | - | - | - | - | - | - = - - = =1 -1 -"T-=-T1T-=-"1T+=1°-
529 | - | - | - | -1 4| -1 -1 -1 - -1 -=-=1-"1-"T-=-1T-=1T+=1-
530 | - | - - [ -T-T-1Ta2 3 4 | - 1 - -1 -1T- 1

5/31 - | - [ - - T =T -1 - I -1 -T-T1T-T-=-T="—T-Ta1la/J-=
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6/1 = = - — - - =

6/2 — — — — — — — — — — — — — 4 — — —
6/3 1 1 [ 4 - [ - - 1 1 1 - - - - - -
6/4 — — — — — — — — — — — — — — — — —
6/5 — — — — — — — — — — — — — — — — —
6/6 — — — — — — — — — — — — — — — — —
6/7 — — — — — — — — — — — — — — —
6/8 — — — — — — — — — — — — — ° — ° —
6/9 4 4 4 4 - 4 4 4 - a4 a4 - ° - - - -

6/10 - - - - - - - - - ° - - - ° - - °

6/11 — — — — — — — — — — — — — — — — —
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6/16 — — — — — — — — — — — — — 3 — — —

6/17 - ° - - - - - ° - - - - - - - - °

6/18 | — — — — — — — — — — — — —
6/19 = — — — — — — — — — — — — — — — —
6/20 | — — — — — — — — — — — — —

6/21 | - | - [ - | - - [ = - [ - [ -1 -1 =1T-T1T-T-=-=T1T-1-=713+=
6/2 | - | - | - | - | - | = -1 -1-1T-1-=13+= - - 1 =1 =
6/23 | 2 | e [ 3 [ 2 | - | -1 -1 -T-T-1T271T271]T-137]-1-1+
6/24 | - | - | - | - [ - [ = = [ - =T -1 -T-T~=-T-T=21-71-+=
6/ | - | - | - [ 2 | e | 3 | e [ e | 32 | 2|3 -1-1-12T]S3
6/ | - | e [ - | - [ - | - | - -1 -1T=21]2712][31]-1-1-1-+=
/277 | - | - [ - [ - - - -1 -1-1-1-1-71-+- - -1 -

6/28 | - | - [ - [ - [ - [ - - - -T-T1T-=-T=-T-T=-T-=-1T-=-T+=
6/20 | - | - [ - [ - [ - [ - - -T=-T=-T1T-=-T=-T=-T=-T-=-1T-=-T+=
6/% | - | - [ - [ - [ - [ - - -T=-T=-T-=-T=-T=-T=-T-=-1T-=-T+=
/1 I e e =

7/2 = — — — — — — — — — — — — — —

7/3 - [ - [ - I - T =T =-T=T2 1 -1 =-T-T=-1T=T-=-1T-1T371+=
7/4 - [ - [ - [ - - T T =T -1 =T -1 -T-=-T-=T-=T1T-=1T2T7-=
7/5 - - - I - T =T =T =1 -1 =-1T-=-=T-=-T=-T-=T-=-1T-=-"1-1T=
7/6 - - - I - T =T =T =1 -1 =T -=-=T-=-=T=-=T-=T-=-1T-=-"1T-=-71T-=
7/1 - - - I - T =T =T =1 -1 =T -=-=T-=-=T=-=T-=T-=-1T-=-"1T-=-71T-=
7/8 - [ - [ - I - T =T =T =1 -1 -1 -=T-=-T-=-1T=T-=-1T-=-"1T-=-71T=
7/9 2 | -[3[3[-]T-T-1T-1T3[-1-13 - -1 -1=
710 | - | - | - | - [ = [ = [ = [ =T -T =1 -=-T-1T-"T-T-=-=T-=T1T-=
it | -T2 -3 -1 -T-T-T-T-1T31T-173 3 2 | - [ -
2 | - | - [ - - [ - -1 -—T-Ts3l -T-T-1T-T-T27T2T71-
713 | 2 [ 2 | - | -1 -173 2 | - -T2 -T-T-T-1T3 2 | -
714 | 2 | - | - | = | - [ - [ - [ =T =-=T-T=T-=-=T1T3[-1T-1T-T1-=
715 | - | - | - | = [ = [ - [ - [ =T =-=T=-1-=T1-<=T71- - - 1 =
716 | - | - | - | - - [ - - -1 -T-1T-1T-1-T1T-T1T-=-T-=-T1-
717 | 2 | e | - | 3 | - -] e -1 -121-1-1-1-1-1T1%2/]-
718 | 3 | - | - | 3 [ e | - [ - [ -1 -13[-1-1-13 2 | - [ -
719 | - | - | - | - - - -1 -12]-[21]2/[2/[2]-1-1-
7/20 | — 3 [ - [ - 13 - - -1 -1 -1T-1T-1T-1T-71-=
721 | - | - | - [ - - - [ - -1 -"T-1T-1T-1-T-T-T-=T1-+-

722 | - | - | - [ - -[T-1T-T-T-T-T-T"-1T"-T7T-T-T-7T-
728 | - | - | - -[-[T-1T-T-T-T-T-T-T-1T-7T+=
724 | - | - | - - -1T-1T-T-T-T-T-T-T-1T-7T+=
72 | - | - | - -[-[-1T-T-T-T-T-T-T-1T-7T+=
726 | - | - | - [ - [ - -[T-T-T-T-T-T-T-1T-7T+=
721 | - | - | - -[-[T-1T-T-T-T-T"-T-T-1T-7T+=
728 | - | - | - [ -[ - -1T-T-T-T-T-T-1T-1T-7T+=
729 | - | - | - [ - [ - -1 - T -T-T-T-T-"1T-"1T-7T¢2
7% | - | - [ - [ - [ - [ -1 —- T -T-T-T-"T-"T-"T-T-"T-7T¢=
73t | - | - - -T-1T-1T-T-T-T-T-T=-1T-1T=-1T=-T=-71T-
8/1 - -r-rTr-1r-r-1r-r-1r-1T-1T-r1r-1-1T-1T-1T-1T=
8/2 - -r-rTr-1r-r-1r-r-1r-1T-1T-r1r-1-1T-1T-1T-1T=
8/3 - -r-rTr-1r-r-1r-r-1r-1T-1T-r1r-1-1T-1T-1T-1T=
8/4 - -r-rTr-1r-r-1r-r-1r-1T-1T-r1r-1-1T-1T-1T-1T=
8/5 - -r-rTr-1r-r-1r-r-1r-1T-1T-r1r-1-1T-1T-1T-1T=
8/6 - -rr-rTr-1r-r-1r-1r-1r-1T-1T-T1r-1-1T-1T-1T-1T=
8/7 -3 -1 =-1T-T-T-T-T-1T-1T=-1T+=
8/8 - -rr-1Tr-1T-1T-1T-1T-1T-T=-T-T271T-1T-1T-1T-71T=
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